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Q. Which country was associated with the invention of safety matches?
(a) Denmark

(b) Switzerland
(c) Sweden

(d) Netherlands [SSC JE 26 Sep 2019 Shift 1]

q. AR & el & 3nfachR &1 G99 5 ST I §7
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() iz

(&) Aeels [SSC JE 26 Sep 2019 Shift 1]
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@dharmrajkumard668 12 hours ago

CC.....The safety match was invented by Gustaf Eric Pasch in 1844 in Sweden. Gustaf Eric Pasch
constructed the first working prototype of a safety match. In 1844 he secured a patent and started to
manufacture safety match in Stockholm. @ @ @ & & &

ik GF

wakpatel5380 12 hours ago

option CC The safety matche was invented by GUSTAF ERIC in 1844 in SWEDEN
Chapter wise 80%,PYQ 20%.

e ' G Reply

@varshakumari5699 12 hours ago

Reply

Option cis right answer._.sweaden.... The safety match was invented by Gustaf Eric pasch in 1844 in
sweaden @ ye series hi thik h mere liye... kyuki pyq se hme different different concept ke bare me pta
chlta h...agar question bn jata h to confidance vi boostup hota h...pyq end hone ke baad chapter wise
thik rhega ..pr avi yhi thik h @ ¥

' GF Reply

[@shivamkumar-kumar1143 7 minutes ago

Answer C . Thank you so much sir for great Session .. se se se o»

e GF

Reply

@

T

({@sachinbiradar3039 2 hours ago

Addai24

First match was created in 1805 by Jean Chancel in Paris
e

@Sunilkumar-vméyo 12 hours ago

Reply

Sweden in 1855......1 want chapter wise question series
e’

({@subirg536 12 hours ago
HW Ans : C. Sweden @ @ W, Sir Chapter wise series will be best

e GF

{@subhamambastad314 3 hours ago (edited)

Reply

Reply

Answer C
Chapter wise sir...
Yeg 100

an

Monday

Show less
e 'GP Reply

[@sudeepkumarbiswas3790 12 hours ago
(C) SWEDEN.....yes sir chapterwise karwaiye
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@umashankarkumar472 12 hours ago

THE SAFETY MATCH IS INVENTED BY THE TWO BROTHER ,S in jonkopin (seSWEDEMsese) the
factory name is jonkopon in 1845 then the correct option will be (CCCCCC) AND( | THINK &
THE QUESTION SESSION IS EEST NOT CHAPTER WISE AMD THIS SESSION IS GOING BETTER SO
THIS IS THE BEST NOT CHAPTER WISE) SIR AND THANKS SIR%, & @ O & # & 103

e GF

[@POOJAVERMA-gm3di 11 hours ago

Ans- C : Gustaf Eric in 1844 in Sweden.
Thankyou so much Sir
Chapter wise Sir .

ik GF

[@Babitakumari-uilty 12 hours ago

Options -(c)...swedan ... Chapter wise sir ...... Thank you so much sir J, s snsnsa® & & ¢ ¢
v

ik

[@subhashkumar-grzmn 10 hours ago

Reply

Reply

Reply

Swdeen........ sir mixed series hi revision ke liye best hai isliye issi series ko continue rakhiye @ @ @

L A A
ik &P

Reply

{tathagatakonar6505 6 hours ago

Option C
Sir Johan Edvard Lundstrom
e ' GJ Reply

[@Deepakkumar-yj9hi 11 hours ago
Sweden... @ chapterwise sir

ik

@91 4shivanshukumar9 11 hours ago

Reply

Answer c yes @
s 'GP Repy

[@anujkumar?56 12 hours ago
DD

sir chapter wise, Yes £2
i

@shivanisingh14 12 hours ago

Reply

Dd @ W, yes sir chapter wise

' G Reply

Adda

e




Science | | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 2y 7

{@souvikchand 11 hours ago
Sir we want CHQ......- chapter wise qUestion.... o u s o 120 100 100 700 70D . @jyotimaurya5463 12 hours ago

Sweden 1844 ... Chapter wise sir

e 1 G Reply

@rupomgogoif9422 7 hours ago
Option C(Sweden)is the correct answer @ 120 10
And i want chapter wise sir @ Dd '@ W yes sir chapter wise..

e G Repy s ' GF Reply

@Takshak-_ 10 hours ago (edited) @ @Dheerajkumar-mo8jd 7 hours ago

e ' GJ Reply

@kritikamall4816 12 hours ago

Ans - C. I'm ready with chapterwise series. @ Chapter wise questions

e’ CF Reply

@aashikhussain7882 12 hours ago (edited)
HVc P QPP PPVPIVVVIVVVIVVVYVY VY VPV yes with chapter wise question.

e ' G Reply

{@vaibhavd? 11 hours ago (edited)
Option C Sweeden sir @

@ & @ 0 ¢ B

I‘ 1 9] Reply sab ne explain kiya hain ® kuch bach hinahi & ..
s ' GF Reply

[@GaganSingh-gw7vd 12 hours ago
Ans is ¢ safety matches was discovered by Swedish chemist Gustaf Erik Pasch in mis 19th century. ~ Treply
. @vaibhavd? 10 hours ago
.or aage se classes chapter wise chini cahiye uske liye yes... Okay sir ji Chapter vi Chalenge pure ke pure Point to point ho jayenge
e G Repy e 1 G Reply

. @varundas7470 11 hours ago i @tanukatare4164 12 hours ago
@TaraSingh-bs7gt 11 minutes ago B arsc a D, yes sir chapter wise or sir plz je exams k liye non tech ka coarse or practice batch technical ka mil
Yes skta h kya

e’ G Reply
e 'GP Reply e G Repy
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Q. Which country was associated with the invention of safety matches?
(a) Denmark

(b) Switzerland
(c) Sweden

(d) Netherlands [SSC JE 26 Sep 2019 Shift 1]
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Q. On which date is National Science Day observed in India?
(a) 8t March

(b) 15t September

(c) 22" December

(d) 28t February [SSC JE 26 Sep 2019 Shift 1]
U. HRd & I 9 aw ffa akia & A=r Jrar 82

(T) 8 AT

@) 15 RdsR

(@) 22 feHsR

3) 28 B [SSC JE 26 Sep 2019 Shift 1]
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Q. Who or what is a chuckwalla?
(a) Lizard

(b) Anopheles mosquito

(c) Chameleon

(d) Snake [SSC JE 26 Sep 2019 Shift 1]

U. IhdTell Dl § AT AT &2
() &gl

() AP HTE

() PR

(&) | [SSC JE 26 Sep 2019 Shift 1]
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Q. Who or what is a chuckwalla?
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Q. Starfish belongs to phylum
(a) Echinodermata

(b) Annelida

(c) Porifera

(d) Nematoda
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Q. Phylum are exclusively free living marine organisms.
(a) Nematoda

(b) Mollusca

(c) Arthropoda

(d) Echinodermata

. BISeld [ §T & I T arel AT ST T
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() AT
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@) sfRaeseer
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Which of the following cell organelle is

responsible for cellular respiration?

L]

c a 5w »

Golgi bodies
Mitochondria
Nucleus

Lysosomes

Adda

e
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DNA

Intermembrane space

Ribosome ATP synthase

Matrix

Granules
Cristae junction

Inner membrane
Outer membrane
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Which of the following cell organelle is

responsible for cellular respiration?
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Q. Which alloy is made of copper and tin?
(a) Silver

(b) Bronze

(c) Solder

(d) Ranga [SSC JE 29 JAN 2018 SHIFT 1]

. drer 3R e @l W Frararg & a=m 82
(T) AT
() P
(&) e

&) W [SSC JE 29 JAN 2018 SHIFT 1]
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Q. Which alloy is made of copper and tin?
(a) Silver

(b) Bronze

(c) Solder

(d) Ranga [SSC JE 29 JAN 2018 SHIFT 1]

. drer 3R e @l W Frararg & a=m 82
(T) AT
() P
(&) e
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Q. Which base is generally found in soaps?
(a) Calcium hydroxide

(b) Ammonium hydroxide

(c) Sodium hydroxide

(d) Magnesium hydroxide [SSC JE 29 JAN 2018 SHIFT 1]

ua@?-r:ﬁrmalr-r i ET R UrAT AT g7

(&) FATNRAIA gSSiFASS [SSC JE 29 JAN 2018 SHIFT 1]
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Q. Which type of image is always formed by a convex mirror?

1. Real

2. Virtual

3. Enlarged

(a) Only 1 (b) Only 2

(c)Only 1 and 3 (d) Only 2 and 3 [SSCJE 29 JAN 2018 SHIFT 1]

Y. 3del gUUT § Ted fohg usR &1 ufafdss aadr §7

1. 3l

2. 3THATEY

3. 9@T g3

(T) Hhad 1 (&) Faer 2

(&) Ppae 1 3T 3 (&) daer 2 3R 3 [SSC JE 29 JAN 2018 SHIFT 1]
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Q. There is a circular coil having n turns. The field produced at the center is how
many times larger than produced by a coil of single turn?

(a)n

(b) n?

(c)n/2

(d) n?/2 [SSCJE 29 JAN 2018 SHIFT 1]

U. T PR FSol © FTHA n B Tl g W S &9 Tehel HIS dlell FSoll
gRT 3cUeet &9 | fohcar [T 927 2

(@) n

(1) n?

() n/2

(3N) n? /2 [SSC JE 29 JAN 2018 SHIFT 1]
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Q. Which of the following is NOT an example of a biomass energy source?

(a) Wood

(b) Gobar gas

(c) Atomic energy

(d) Coal [SSC JE 29 JAN 2018 SHIFT 1]

y. Qeafef@a # & dla a1 THT S G B SETe0T el o7

(V) ShST

@) MR

GRS

() PTeT [SSC JE 29 JAN 2018 SHIFT 1]
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Q. Density of water when it freezes below 4°C.

(a) decreases
(b) increases
(c) remain constant

(d) No option is correct [SSC JE 29 JAN 2018 SHIFT 1]
T. Ulell &l "elcd BT ¥ S Ig 4°cy A SH S B
(T) gT et &

(1) ggar &

(&) R @

@) P APy el T8 © [SSC JE 29 JAN 2018 SHIFT 1]
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Q. Which human organ gets majorly affected due to Vitamin D deficiency?

(a) Eyes

(b) SKkin

(c) Hair

(d) Bone [SSC JE 29 JAN 2018 SHIFT 1]

. e & & it @ Pl T1 FGT 3791 I 31« gsnfaa dar §7

(T) 3

() ca=m

GIELGH

CEER) [SSC JE 29 JAN 2018 SHIFT 1]
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Q. Mach the structures given in column (A) with the functions given in column (B).

Column-A Column-B

I. Stomata 1. Absorption of water

II. Xylem 2. Transpiration

III. Root hairs 3. Transport of food

IV. Phloem 4. Transport of water
(a)I1-1,11-2,1I1-3,IV-4 (b)1-2,11-4,1I1-1,IV-3
(cgI-1,11-2,1I1-4,1V-3 (dI-1,11-3,Il1-2,IV-4 [SSCJE 29 JAN 2018 SHIFT 1]
uww)ﬁamémaﬂaﬁw@)ﬁﬁumma;maﬁWI
PIcTH-T picTH-sll

. Y 1. STel T MO

. STSeld 2. arSUIcHole

. 33 oA 3. HIS &1 gRdest

IV. FITH 4. STl T URAe
(T)I1-1,u-2,11-3,Iv-4 (En') 1-2,11-4,1l1-1,IV-3

(@) 1-1,1-2,11-4,1IV-3 E)1-1,11-3,11-2,IV-4 [SSC JE 29 JAN 2018 SHIFT 1]
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Q. What is value of pH of a neutral solution?

(a) 7.0

(b) 6.5

(c)7.5

(d) 6.0 [SSC JE 29 JAN 2018 SHIFT 1]

q. frdr 3 faeI &l pH AT ThdaT aXdar &7

(T) 7.0

(1) 6.5

(&) 7.5

3Y) 6.0 [SSC JE 29 JAN 2018 SHIFT 1]
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Q. Which of the following is monera group?
(a) Mushrooms
(b) Yeast

(c) Bacteria
(d) Moss [SSC JE 29 JAN 2018 SHIFT 1]

y. Aeafaf@a & & @l a1 #ART J9g &2

(T) AASH

(d1) EAR

(&) R

(&) AE [SSC JE 29 JAN 2018 SHIFT 1]



